/ ASH-IV/Geography/CC-9/19
B.A./B. Semester (Honours) Examination, 2019 (CBCS)
Subject : Geography
Paper : CC-9
(Economic Geography)

Time: 3 Hours ] Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

iR ZEF AN ST |
AT TATET e SR BGF f7re 304

Section-A

1. Answer any fen from the following questions: 2x10=20
e eelm or @ GE ™I arE Ter s ¢
(a) Define production.
Teoui-q HK@ e |
(b) What do you mean by ‘agglomeration force’ in locational theory?
T $0g AN T S (AR 2
(¢) Define Economic Geography.
GAreT TG K@ e |
(d) Define Tsotim.
sEEibeR wRwE we |
(e) State the objective of Agro-forestry.
FR-TFEEE S 7ge sl
(f) What is Commercial Agriculture?
Afifers R FF W=
(g) Name two regions of Iron and Steel industry in Japan.

AR T2 € TS M 7t wewesTs AW @i |

(h) Name the centres of Petro-chemical industry in western region of India.

T ARGTINE SEAES (G- e ewelEE TN @
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(i) Mention name of the countries of mixed-farming in Europe.
Ao -3 sssfe omelem ai el
(j) What do you mean by Entrepot Trade?
Entrepot Trade T#1CS I (I 2
(k) What is Golden Quadrilateral?
CITE bege I T2
(1) Classify Internal Trade.
gl e @RSl |
(m) Write down full form of SEZ.
SEZ-&9 2t <13 (=il |
(n) Name two important fishing zones of the world.
e i sweeld ST Sedve Seasa AW Al

(0) What is the importance of OPEC?
OPEC-47 ¥Fg Ji?

Section-B

2. Answer any four questions from the following: 5x4=20
fasfeifee eefera W @ oy 19l etss Tew we ¢

(a) Classify different economic activities with proper examples.

Rfey weftnfes Frfiaam Snzaasz @Rels sl |

(b) Differentiate between goods and services.

Goods and services-97 W&y i< el e

(c) Explain the role of labour cost in Webér’s least cost theory of industrial location.
SEIES PR SREN @S P TR Oy @ TGl e i w0l

(d) Analyse the problems of Indian Iron and Steel industry.
OIR0ed ((11z 8 TS M Temel et s

(e) Write down the important services in India. What are the factors underlying the services

growth? 2+3=5
Siared 24 sifiEatels § F el e Jag Hee | g sHme

.(f) State the core Principles of W.T.O.
W.T.0.~43 Seifosfe @i
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Section=C

3. Answer any two from the following questions: 10%2=20
fsleie eisfem T @ @ 7 gmim Tea we ¢

(a) What are the objectives of agricultural location theory of J. H. Von Thunen? Analyse the

agricultural land-use zones as stated by him. 3+7=10
(%7, 2. O] T-47 FRGHRE STFH T wrgd Srene [ [ 7 e FReha
s Sreesele [HeRd S|

(b) Give reasons for the relative backwardness of the tropical seas in regard to the commercial

fishing. Critically analyse why marine fishing grounds are confined mainly to the temperate

water. 3+7=10
Affers W wieA SEN T APl FeleR G| iAo Hm A
TCFGUET TN (@ o179 T4 A7, ©f F[esrd 5@t =

(c) Which industry is called as Sunrise industry and why? Discuss the factors of localisation
of this industry in U. S. A. 3+7=10
(I ToIsice SRR P TeTl 28 @) (< ¢ STl IeAIE 3 e @Riedea Sad qea
FE|

(d) Discuss the characteristics of plantation farming with reference to Tea in India. Write down
the trends of trade of Tea in India. YE3=10

SIS bl BT AT Aifoint $R cawref s st | e1we 5t Ay sfeage a
Sl |
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